Problem 7
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B 13 1 C

2_ 2,2

b =a”+c~—2a*c*cos B

(13 )2+( 9. )2=2( 13)-( 9-)-cos( 75 )

250. — 234. cos( 75 )
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B 13 1 C

p= 250 — 234 cos(75 )

b= 189.436 ~ 13.704
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B 13 1

sin A

13

sin( 75 )

15.764

angle_b
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B 13 1 C

sinA  sin(75 ) 13 sin( 75 )
= —sin A=

13 13.764 13.7636
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B 13 1 C

sinA  sin(75 ) 13 sin( 75 )
= —sin A=
13 13.764 13.7636
| ( 13 sin( 75 ))
m/_A=sin"
13.764
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B 13 u C

sinA  sin(75 ) 13 sin( 75 )
= —sin A=

13 13.764 13.7636
m/ A=sin”( 0.912 )~ 65.83 °
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B 13 u C

sinC  sin(75 ) 9. sin( 75 )
= —sin C=
0. 13.764 13.7636
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B 13 1 C

sinC  sin(75 ) 9. sin( 75 )
= —sin C=
9. 13.764 13.7636
| ( 9. sin( 75 ))
m/_C=sin™
13.764
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39. T2

B 13 u

C

sinC sin( 75 )

9. sin( 75 )

= —sin C=
9. 13.764

m/_Cxsin"( 0.632)~ 39.17 °

13.7636
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13.764 u

39.17°.
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1 langle_a |angle_a |a_1 13./ratio_a 0.91234 angle_a 65.83
2 langle_b 75/b_1 13.764/b_sq 189.44
3 langle_c |angle_c (c_1 9. ratio_c 0.63162/angle_c 39.17
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Problem 8

7

Ou
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U

o

A 3u

Triangle Inequality Test 1

3. — 1. ‘< 9.
4,

< O

< 3. 4+ 7.
< 10.
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7 U Ou

Triangle Inequality Test 2

9. — 7. |« 3. < 9. + 7.
2. < 3. < 1e.
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O u

7T U

Triangle Inequality Test 3

9. - 3. |< 7.
6.

< 7.

< 9., 4+ 3.
< 12.
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cos A= -0.547619

U
Ou
A 3u
Prca? (3. )%+ 7 )~ 9 )3
Ccos A= =
2-bc 2-(3. )(7.)
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m/_A ~cos™(-0. 547619) 123.204 ©

U
91%%040
A~ 3u 'C
(3. )24( 7. )2( 9. )2
£ A=cos"
e WP Y T N
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cos B 0.960317

U
Ou
A 3u
02122 (19.)24(7. )2(3. )2
Ccos B= =
2a-c 2-( 9. )(7.
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T
\_f

(9. )24( 7. )2-(3. )2
\o2(9. )7 )

m/_B ~cos™( 0.960317)z 6.1951 ©

m/_B=cos”
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cos C= 0.759259
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B

U

\l\
40,6012

A 3y C

m/_C=cos™

| .2-(9.)(3-). /

m/_C ~cos'( 0.759259~ 40.6011 °
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16.195°

B

N

123. 204040\60110

A du

C

FA Law of Cosines

1-9-19.tns

23 of 24



® A B C

1 langle_a a_1 g
2 langle_b b_1 .
3 langle_c c_1

4

5 ratio_a -0.54762 angle_a 123.2
6 |ratio_b 0.96032/angle_b 16.195
/7 lratio_c 0.75926/angle_c 40.601
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